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QUESTION 1

Identify two benefits provided by using single sign-on (SSO) in a high availability (HA) application. (choose two)
A. To automatically authenticate users on a new server following a server crash

B. To redirect the user to a new server during a server quiesce (pause)

C. To allow the movement of stateful data between application servers

D. To allow for cookie persistence on the browser

Correct Answer: AB

QUESTION 2

You imported a rule-admin-product (RAP) file that contains new features into a user acceptance testing(UAT)
environment. Select the option that ensures basic functionality behaves as expected before inviting users to start
acceptance testing.

A. Create a smoke test suite. Run the test suite using the pre-import process.

B. Create an ad hoc test suite. Run the test suite using the post-import process.

C. Create an integration test suite. Run the test suite using the Execute Test REST service

D. Create a regression test suite. Run the test suite using the automation server.

Correct Answer: D

QUESTION 3

Default application settings are shown in the image. What two edits do you make to the advanced configuration based
on information in the reading passage? (choose two)
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A. Deselect Create demonstration users\\'\\',

B. Edit the Division name to UK\\\V,

C. Edit the organization name to BCO

D. Select Framework\\\\' as the Application structure.

E. Select Framework

Correct Answer: CD

Explanation: You are working with BigCo to create an application for insurance quoting. BigCo is a multinational
corporation that has traded on the NASDAQ as BCO. BigCo headquarters is located in the UK, and the company has
division for each geaographical location. You expect the application to contain two type work: Quote and policy. The
Quote guides the sales representative through one or more quotes with the customer. Each quote must be retained by
the system and visible to the sales representative and the manager. Any data capture during the quoting process must
be available to the Policy case. The Policy represents the accepted insurance quote. For the next year, BigCo intends to
use the insurance quoting application only for the personal insurance business in the United Kingdom. Joe, the business

architect, is working with BigCo, subject matter experts (SMEs) to understand the quoting process. Joe uses Pega
Express to develop the quoting application with the SMEs.

QUESTION 4

You isolated the problem to node ! of the cluster. Y see node 1 goes down shortly «ift
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